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Relação do aço

ELEMENTO
AÇO N DIAM

(mm)

QUANT
C.UNIT

(cm)

C.TOTAL

(cm)

P66 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P67 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P68 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P69 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P70 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P71 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P72 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P73 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P74 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P75 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P76 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P77 CA60 1 5.0 18 72 1296

CA50 2 12.5 4 87 348

CA50 3 12.5 4 222 888

P78 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P79 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P80 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P81 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P82 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P83 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

P84 CA60 1 5.0 23 122 2806

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

PJ1 CA60 1 5.0 35 122 4270

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

CA50 4 10.0 12 122 1464

PJ2 CA60 1 5.0 35 122 4270

CA50 2 10.0 12 147 1764

CA50 3 10.0 12 213 2556

CA50 4 10.0 12 122 1464

PJ3 CA60 1 5.0 22 122 2684

CA50 2 10.0 12 177 2124

CA50 3 10.0 12 122 1464

PJ4 CA60 1 5.0 22 122 2684

CA50 2 10.0 12 177 2124

CA50 3 10.0 12 122 1464

PJ5 CA60 1 5.0 30 122 3660

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

CA50 4 10.0 12 122 1464

PJ6 CA60 1 5.0 30 122 3660

CA50 2 10.0 12 87 1044

CA50 3 10.0 12 213 2556

CA50 4 10.0 12 122 1464

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

12.5

5.0

936.8

12.4

730.4

635.3

13.1

123.8

PESO TOTAL

(kg)

CA50

CA60

648.4

123.8

Volume de concreto (C-25) = 6.98 m³

Área de forma = 91.47 m²
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